TG it

CHART 1

—NOTE
/ USE *10-32 BAR NUT PA-R"-'TNCUMBE NI-?I?\EER. A B C D E F
o ® T | TK-108-12]C-300-D-12 [10%2 (9% | 1Z [ 12 | Il | /A
- 1; - | \ : Meher . TK-l08-18]|C-300-p-14(12%|13%[14 |15 | 13 | Ya
L \ f’*‘-m‘rfd. e 7 e TK-108-16[C-300-D-16[12%2|13%| 16 [ 17 [15]Z7a
P =L ) D . Tk-108-18| c-300-D-)8[12%2|13% ] 18 | 19 |17 |4%
s - - — -V R . TK-108-20] 2-200 -D-29 |84 |19%| 20 |21 | IS | YA
4 = TK-(08- 22| ¢-300-0 -2 18% [19%|22 [ 23 | 21 |27
oF viEw Tk-(08-24] C-300-D-24[|18%| 19%]| 24 |25 |22 |4 4
TK-108- 13-4 12518 |12 |17 |2%

~NOTES ~

.- RIGHT HAND DETENT ASSY SHOWN.

2.- FINISH: CADMIUM PLATE AND IRIDITE DIP
UNDER"POLYLUBE”"SOLID FIiLM LUBRICATION
BY POLY-CHEM®, INDIANAPOLIS, INDIANA.,

3.- ITEM & 1/Z2 THE QUANTITY OF \TEMS 7 THRU IS
ARE NORMALLY SUPPLIED AS PART OF ASSEMBLY
ITEM S(LH.SECT).

4.- ITEMIT,F /2 THE QUANTITY OF ITEMS 7 THRD 1S
ARE NORMALLY SUPPLIED AS PART OF ASSEMBLY
\TEM 1&,(R.H. SECT.).

T ] S.- THE PART NO. TK- I08- X ASP(\TEM 20) iS FOR SPARE

; g PARTS PURPOSES ONLY, # REPRESENTS A TRACK
gy SET INCLUDING EVERYTHING EXCEPT THE CHASSID

! SECTIONS, \TEM S THWU \T. -

©.- THE CORRECT SLIDE LENGTH(R: 18, 20,22CTC..-)
SHOULD BE INSERTED \N PLACE OF "AX”

Oon@

f i

N ANY TMO PART NMO'S CONMNTAININGT® ™.
FAR INSIDE VIEW
SLIPE EXTENDEL
Jil POT | [20[TK-108-XXSP |TRACK SET, LESS CHASSIS SECI.
B-162/|6 |9 |TK-108-NB BAR,NUT
Bl16l| 2 |IB|TK-108-RS BRACKET, SUPPORT, REAR
C-338Ri| | |IT | TK-108-KXCPR CHASSIS SECT., PIVOT, RH.
G337-Ra| | [1G]TK-108-XXCR CHASSIS SECT, ASSY, RH
FOR COMPLETE SET
A1022 | & |15 |TK-108-CLW WASHER,LOCK , INT., NO. 12
NOMENCLATURE SHALL BE IN FOLLOWING FORM $ ' Renaget
A0zl | G [14] TK- 108 -CN NUT, HEX. 12-24
TK_1 08 . 12 A321-5 | 4 13| TK-108-T32 SCREW, SHOULDER ,RELEASE ,12-24-
A32l-4 | 2 [12]TK-108-CS1 SCREW,SHOULDER ,PIVOT, 12-24
/ Phe A012 | 2 |11 |TK-10O8-CW WASHER  FLAT, NO.\2
DWG. No. LENGTH A190-1] 2 [1O|TK-108-C5 SPRING, COMP.
(SEE "A” CHART I) 2 [9[HA-12] HANDLE,TEE,SLIDE RELEASE
B-209 |2 [ 8 |TK-108-CD DETENT, CHASSIS SECT. 3
wsorne 2208 12 [T |TK-108-CF CHAS51S SECT., FIXED
NOTICE TO PERSONS RECENING TE2 = e53gin] 1 | 6 [Tk-108-xXCPL CHASSIS SECT., PIVOT,LH
¢ TECHNICAL MATERIEL CORPORATION AU IC33TLH] | | 5 |TK- 108 -XXCL CHASSIS SECT., ASSY, LH
T ary fight in the material disclosed he80 L F I e o8- XXGR E SECT. INTERMEDIATE
proprietary MEYLLC o3 in confidence for engineerin® 8-XXG GUID . INTERMEDIATE ,RH
2 il F:;srgg‘;:;:go:?ﬁ and may not be rerpro?ujgiofgi‘f;_ C-303LH] | | 3 |TK-108-XXGL GUIDE SECT.,INTERMED{ATE,LH
— | B0a UFPATED #re/men [ Hiyys| 1063 BN \> manefacture agv;*g‘g&,ﬁ‘g‘;t“m“~e%?%'-F.' cor0? [CIosee [ T2 TK-108-X XSR STATIONARY SECT., B H
7 [TEMSD WIS A TS WAS 3717 la€b¢3/8005 |& misson o 1 11w s cane 11750 (305 TR T 11 | TR-108-XXSL STATIONARY SECT, LW
i e s e T T v . is subject to recall at any U e [ = ——
— [Pl ToR) CLAE i) - = 5 | o A2 | : AOARAT:0 LRI ey
.152.»'-2_'pN-’@Ew%E;mL:ai‘g‘;s:\le_i\}ﬁmI.Tpras-:&_sm .lbe&E_DZ'C{'éS 5'(’7/ f{;&yﬁ THETECHMCAL MATER ;‘\?""n‘ )4 e ol S
T B i e o LU T B RS B S e WAIARONCC, A1 10X TRACK ¥ SLIDE_SET,TILT LOCK.I%
Mo ; ) ; M A ; =
TR * | DI~ o] AV
B{ME N& : : ! ek, \ i
ke : I = 5 1' 19— 6’ TYPE & TEMPER K\‘:' /7
TOLERANCE Py N — - = _\‘,ﬂ! =
* a@e - JZ |TK-108 _[r
u - 3 . . NI ISED ON i e ‘__"_ " | _J

T g e S Wi | ; | 4 | 3 | 2 | 1

maen o ————




